PACKING LIST FOR FAR1518

Box 1 - RPU024/1518
Part No.
RPU024/1518
RCU028
000-155-827
001-132-960
100-372-550-10
000-162-841-10
000-162-608
000-158-850
OME-363-80Z
10 MLG-363-80Z
11 IME-363-80Z
12 MDC-363-80Z

© 00 N O Ul b WN P

Box 2 - RSB120-100
Part No.
RSB120-100
300-130-020
300-130-020-10
000-166-744-10
000-167-491-10
000-167-446-10
000-167-397-10
000-162-813-10
000-158-856
000-158-855
000-158-854
000-162-871-10
000-566-000
000-190-125-10

© 00 N O o~ WDN P

Al e =
A W DN PEFR O

Rev 2/16

Wit: 23 Ibs. Dim: 20" x 19" x 12"

Description
Processor Unit

Control Unit

Fuse 15A 125V

DVI Cable Assy 5M
Blind Seal

Insulation Tube 50CM
Tapping Screw 5X20
Tapping Screw 4X20
Operator's Manual

Operator's Guide Multi-Language

Installation Manual
Environmental Data Sheet

Quantity
1

P P PP MDNOORERERDNLER

Wt: 711bs. Dim: 24"x 23"x 16"

Description
Gearbox

Seal Washer
Corrosion Proof Mat
Crimp-on Lug FV5.5-4
Hex Nut M12

Flat Washer M12
Spring Washer M12
Hex Bolt M12x60

Hex Nut M6

Spring Washer M6
Flat Washer M6

Hex Bolt M6x25
Grounding Cable (340mm)
Carbon Brush

Page 1 of 1

Quantity
1

NP R WEFERREPRMNMAEDMNDPRPRESN

For Internal Use Only

Serial No.

Checked By:
Tech
Date
RPU024/1518
Yes Remarks
SP03-18001
CP03-36501
CP03-36601
RSB120-100
Yes Remarks
CP03-33401
SP03-12501




